
Radxa 25W PoE HAT Installing Guide 

Package List 

 1x Radxa 25W PoE HAT with cooling fan 

 4x M2.5 x 5 Copper Pillars 

 4x M2.5 x 9 Copper Pillars 

  4x M2.5 x 4 Copper Pillars 

 

Installing Guide 

 AccessPass four M2.5 x 4 Copper Pillars through the four positioning holes of Radxa SBCs, 

and individually secure them to M2.5 x 9 Copper Pillars to ensure a sturdy fixation. 



 

 

 Align the Radxa 25W PoE HAT with the PoE interface and the 40-Pin interface, and insert it 

carefully, ensuring that it passes through the four M2.5 x 9 Copper Pillars. 



 

 On top of the Radxa 25W PoE HAT, align the four M2.5 x 4 Copper Pillars with the four M2.5 

x 9 Copper Pillars, then secure them by rotating them into place. 



Illustrated Outcome 

ROCK 4C+, ROCK 5A 

 

ROCK 5B, ROCK 3B 

 



 

ROCK 3A, ROCK 3A 

 

 

 


